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10 The correct meaning of the provertvidiom - To hit Ihe nail right on he head' is

Al To do the right thing

8)  To destroy one's repulabion

C)  Toannounce one's fned views
D) Towach someone a losson

11 You are not for this kind of job
‘ Al cutin
B) cutup
C)  cut through
D} cutout

12, One who possessos many talents

Al Versatile

B) Nubile

C)  Exceptional
D) Gilted

13, The Study of ancient societies Is called
A} Anlhrngology

B)  Archa
C)  History
D) Ethnology
14 List of the business or subjects to be considered al a meeting
Al Schedule
B)  Timetable
C) Agenda
D}  Plan

15. Change the Speech of - “Please don't go away”. she said.
A} She said 10 please her and not g0 away
B} She told me 10 go away
C)  She begged me nol 10 go away.
D)  She begged that | not §o away

16.  Detect the common error in the following sentence:
Supposing if / it rains / what shall / we do?

A)  Suppose il
B} itrains
C)  whal shall
D)  wedo?

17. Our task had been completed before sunsel. (Change the Voice)
A)  We compleled our 1ask belore sunset
B)  We have compieled our lask before sunset
C)  We complete our task belore sunsel
0)  We had completed our task before sunse!

18.  More insurers are limiting the sale of property insurance in coastal areas and other
regions natural disaslers
A}  salefrom
B) according 10

C) despile
D) pronelo
B-O4/SET A 4
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SET A

1 Thare is no substitute _ hard work
A) al
B) over
C) for
D) 1o

¢  Sincerity is greal virtue. Here sincentyis __
A}  Common noun
B) Abstraci noun
C) Propef noun
D} Collective noun

3 Open your book _ page fifty
Ay at
8) by
C) on
D) in
4. Choose the antonym lo the word ‘Lucid
A)  Evident
B) Obvious
C)} Vague
D) Expiicit
5 Choose the synonym lo the word Wary'.
A} Sad
B) Tired
C) Vigilant
D) Distorted

6. Which one is the correctly speil word?
A)  Accoomodale
B) Accommodale

C) Accomodate
D) Acommodale
7 Cloth: Mill :: Newspaper: _
A) Press
B) Editor
C) Reader
D) Paper
8. A mirror aiways
A) Distorts
B) Retracls
C) Relracts
Dy Reliects
g Which of the following is found in ‘Bravery?
A) Knowledge
8) Courage
C)] Power
Dy Experts
B-04/SET A 3
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27 The last Mughal emperor wis
A} Auwrangleb
8!  Akbar
C! Babar
01 Bahadur Shah
26 Who 1s known as the Napoleon of India?
Al Arya Gupla
Bl  Samudra Gupta
C! Kanda Gupla
D Ashoka .s?
ngress
.28 Who was the first woman President of Indian National Gond
A]  Kamala Nadu
B!  Sarpjini Naidu
C+  Annie Besant
01 Indira Gandhi
30.  In which State has Aimond as fis State Tree?
Al Arunachal Pradesh
B) Goa
C}  Himacha! Pradesh
Dy Jammu & Kashmir
31 What is the acid present in Lemon?
Al Onxalic Acid
By  Curic Acid
Ci  Gluconic Acid
Dy Tananc Acxd
32.  Which is the Donor Blood Group?
A) A
B} B
C) AB
0 0O
.33 In which Staie the Eiephant Falis localed?
A}  Andhra Pradesh
B} Odisha
C) Meghalaya
D) Karnataka
34 The Song Vande Mataram was composed by o
A:  Rabindra Nath Tagore
B}  Bankimchandra Chatter)
C)  Satyap! Ray
Dy Shyam Sundar Das
35  Indian Army was eslablished in
A} 1895
B) 1814
C) 1945
Dy 1947
BOd/SITA
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Improve the followsng sentence by replacing the underlined parn

19
if_the room had been brighte
t. | would have been able 1o read Ior a while belore bod

e
Al Had [he room been bhighter

By i the room are brighter
C) It the room was brightes
01 Had the brighter room

it has been established that

20
P ' Einstein was
O although a greal scxentist
R - weak in arithmetic
S . nght from his school days
R Copa s ol ordertng of words thouid be
B) QPRS
C) QPSR
D)} ROPS
21, The recen! ‘demonetisation’ announced by government of Indiawasin _____
A}  November 2016
B) December 2016
C) November 2017
D) December 2017
22 Which is the okdest mountain range in India?
A)  Satpura Range
B) Aravali Range
C) Vindhya Range
D} Pir Panjal Range
23 Which is the Capital of the Union Territory of Dadra Nagar Haveli?
A) Panaj
B) Dispur
C) Port Blair
D) Sivassa
24. Who gave the call for Evergreen Revoluton?
A) Sardar Patel
B) Verghese Kunen
c) MS. Swaminathan
D) Man Mohan Singh
25 The place o India receiving the jowes! rainfallis ____
A) Jaipur
B) Leh
C) Srinagar
D) Kolkala
26 Where is the National Stock Exchange located?
A)  New Delhi
B) Hyderabad
C} Chennai
D) Mumba
B-04/SET A >
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Right to freedom of religion as enshrined in
L A Freedom ol Article 25-28 includes
8) Free profession

C)  Practice and propagation of retigion
0y Al ol the above

55 Red data book contains data ol
A) all plant species
B) all ammal species

C}  economically imponant species
D) threalened species

56. A ight sensitive device that converts drawing, priniad lext o¢ other images inlo digital

form is

A) Keyboard
B) Plotter

C) Scanner
Dy OMR

57. 15th September is celebrated internationally as
A) International Democracy Day
B) Intermational Teachers Day
C) World Cancer Day
D) Worid Book Day

§8. Monetary Policy as an arm of the economic policy is administered by
A)  Government of India

B} Reserve Bank of India
C) Stale Bank of india
D) Governments of the respective stales

59 “One People, One State, Ona leader” was (he pokcy of

A)  Hitler
B} Lenin
C) Mussolin
D) Stabn

60. India announced the successiul conduct ol ani-saellile missile lesi, called “Mission
Shakti® on
A} March 27, 2018
B} March 27, 2019
C) January 27,2018
D) January 27, 2018

81 Four words are given, out of which three are same in a certain way while the rest one
is different. Find out the different ong

A)  Teacher
B8) Principal
C) student
D) Lectures
BO4/SET A 9
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45 The Mig Day Mg

A)
B)
C)
Dj

46 In Ing
A)
8)
C)
D}

47 Which of the foliowing

A)
B)
CJ
D)

48 Which of the |
Gavernmeny of Myanmar

August 15 2015
August 15 2005
August 15 1905
August 15, 1985

ha the toem Bi

al Schemo was launched on

ack Hevolution' is associaled with

Selt-dependence in the produttion of coal
Nurturing the Black Soil N
the production of petroleum crude

Sell-dependence i
Selt-

dependence in the production of black corp )
! nce sheel
items would not appear in a company’'s bala

Value of siocks of raw materials held

Total issyed capal
Revenue Irom sale
Cash heid ay the bank

s of the company's products

of the person that controls a ootball maich?

'o win an individual medal in Olympics?

Aj Reliance Energy
B}  Essar O
C)  GAIL
D) ONGC
49  The 'Dronacharya Award' s given to?
Al Spartsmen
B)  Coaches
C}  Umpires
D) Sporis Ediors
50.  Whatis the name
A) A releree
B} Anumpire
Cl A spectator
DI A goalkeeper
51 Who was the tirst indian
A} Milkha Singh
B) P.T Usha
C) Karnam Malleshwar;
0} KD Jadhay

L
(2%

A
B)
C)
DII

53

Who 1s the author of the book

A Narendra Mod,

Rahul Gandhi
Manmohan Singh
Arun Jaitley

A nalional emergency

A failure of constitutional m

A linancial emergency
MNone ol Above

Changing India™»

achinery in Stales
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which ol the following country has i Borcher with bndia 10 the north west”
Al Atghansian

(1)) Myanmar

e i | ankgy

[ Bhuitan

Wit is 1he tollowing Indian Peninaular Fliver known as Dakstin Canga 7

! Al Biahmam
#)  Coauvery
C) Godavari
D Krshng
38  Electnc bulb tlament is made of
Al Coppor
Bl Alummum
Cl Lead
D) Tungsten
39 Which of the loliowing is used in pencils?
A)  Graphite
B}  Sihcon
C) Charcoal
D}  Phosphorous
40 Which of the toliowing planel has the lastes! period ol revolution?
A)  Earh
B) Mars
C) Mercury
D) Piuto
41 The hardest substance available on earth is
A} Gold
B) lon
C) Diamond
Dy Platinum
42 Light year is a unit of
A} Time
B) Distance
C) Light
D) Intensity of light
43 Ranbowisdueto -
A)  absorption of sunlight in minute water droplets
B) diffusion of sunlight through water droplels
C) ionisation of water deposits
D) refraction and reflection of sunlight by waler droplets
44. Open markel operalion is a part of:
A)  Credi Policy
B} Debil Policy
C) Deposil Policy
D) Foreign Policy
B-04/SET A 7
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i South-East becomes
directions are changed in ':”Oﬂh and South becomes Nodh East and all (he res!
same manner than whal will be the deaction lor Wes!?

B)  North-Wes:
C) South-Eas
Dl South-West

In a row ol trees, a i -
there in the row? atee s 7 from loft end und 14" trom right end How many lred are

Ay 19
8 20
c
Dy 22
72 T:;a chairman entered in the Assembly Hall at 10 min belore 12 a0 hours 10 conduct
:nm:'ltcwlew The chairman was 20 min earlier than the managing director The
mlmw’ director was 30 min late as per the time lued What was the tima fued for
A) 12210
By 1220
C) 1230
D) 12:40
73. It *x' stands for ‘addition’. ‘<’ for ‘sublraction’, '+’ for ‘division’. "> 101 'mulnphcauon' -
for ‘equal 10, '~ for ‘greaer than’ and ‘=" for ‘less than’. then state which of the
tollowing s true?
Al 3x452-9:3<¢3
B} 5'3<?+a+‘.|
C) 5>2+2=10<4+8
D) 3Ix2<c4:16>2+4
78, Solve the following question and chooss the correct altemative from the following
1, 2. 3. 4. and 5 are sifting in row bul not necessarity in that order. All of themdare
sitling in a row with their backs toward North. 3 1S mmediate right to 5and 4 is
immediate left 1o 1. Only 2 is between 1 and 5. Which of the following are at the
exireme ends?
Ay 3.4
By 25
c 21
D) 4, 5
75.  Find the missing number in the sequence. 410,28, 7. 244, 730
A) 24
By 77
C) 82
D) 98
76. Whal will be the difference between the sum of the odd digils and the sum of the even
digits in the number 8574237
A) 0
B
c)y 2
0 3
B-04/SET A 11

https://www.jamiastudy.com



Four words are given, out of which Ihvee are same in @ certain way while the rog ane

82
15 iffecent Find out the differant one
A} Square
B}  Trangle
Cl Area
DI Rectangle
63 Thermomete: Temperature  Ghlucometer 7
Al Body sugar
B)  Body resistance
C) Biooa
D) Biood sugar
&4 ' nls' Some tis are le Some NE are Dl'ﬂamams
m' Some jﬁls are pearts. Il. Some omamenis are jeweils
A} Both!and I follows
B)  Neither | nor 11 tollows
C) Only Conclusion | loliows
D} Oniy Conclusion | foliows.
65 A woman says "I you reverse my own age, the figures represent my husband's age
He 1. of course, senior to me and the ditference between our ages Is one-eleventh o
their sum * The woman's age s
A) 23 years
B) 32 years
C) 45 years
D) 54 yparg
66. Which one is difterent trom other three?
Al ZYXw
B) MNOP
C) HGFE
D) DCBA
67 W HARD is coded as 1357 and SOFT is coded as 2468. whal do the higures 21448
stand for?
A)  SHOOP
B) SHOOL
C) SCOOL
D)  SHOOT
68. (1/4) (1/8) : (2/3): ?
Al 14
B 1.3
C) 12
Dy 27
69.  Counlry : President :: State - 7
A)  Chief Minister
B)  Prime Minister
C) Speaker
D)  Governor
B-04/56T A 10
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Ram finished lest ahead of Shyam Shyam and Haris both linighed belore Shiris
Yogesh did not finish last. Who was the last 1o finigh?

Al  Yogesh
B) Hans
C) Shyam
D) Shins

The criminai juslice system needs lo change The system could be more just if o
allowed victims the opportunily 1o contront the person who has harmed them Also
mediation between vicims and their offenders would give the offenders a chance to
apologize for the harm they have done

This paragraph bes! supports the statement that victims of a crime should

A) leam 1o forgive thesr oftenders

B)  have the nght to confront their oftenders

C) insist that their olfenders be punished

D) have the right lo impose a sentence on their offenders

A few stales in this country are considenng legisiation that would prohibit schools from
using caiculators belore the sixth grade. Other states take a ditferent position Some
:::|m Insisting on the purchase ol graphing calcutators for every student in middie
This paragraph best supports the statement that in this country

A)  there are at least two opinions about the use of calcutators in schools

B) stale legisiators are more involved in education than ever before

C)  the price of graphing calculators is less when schoots buy in bulk

D) the argument against calkculators in schools is unfounded

In the past, consumers would rarely walk into an ce cream store and order low-1at ice

cream. Bul that isn Ihe case loday An increasing health conscousness combined

with a much tigger selection of lasty low-lat loods in all categones has made low-lat

ice cream a very profitable tem fo¢ ICe cream slore Owners

This paragraph best supports the slatement thal

A} low-1at ice cream produces more revenue than other low-1at foods

B) ice cream slore owners wouid be belter off carrying only low-1al ice cream

C} ice cream siore owners no longer think that low-fal e cream is an unpopular
dem

D} low-1al ice cream is more popular than other kinds of ice cream

A rain covers a distance of 12 kms in 10 minutes. I it takes 6 seconds 1o pass a
lelegraph post, then the length of train is,

Al 140m
B) 120m
C) 100m
D) 200m

A sludent divided a number by 1/4 when he is required 1o multiply t by 4 Calculate the
percentage of error in his result

A) 0%
B8 100%
Cl 25%
D) 50%
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5 e had t0 DIYH!-'&‘OOHTIMWHGN 2% D4 wmple nterest rate. Aftor 3 yoars
him was penod The prncpal amount borrowed DY
A) As 15000
g Hs 10000
C) Rs 20000
D) Rs 5000
84 Divide 0.81 by 0.09 is aqual 15
A; 09
By 009
¢y 0009
oy 9
85 :\thalflhenohmmmmlmmust‘,
B 6
Cl 12
D)y 18
g6 The rallo of wo numbers s 34 and their HCF is 4 What is LCM of these TWO
numbers?
A) 12
By 24
c) 36
D) 48
g7 HWa' = b7 lhen
A) log ab = Wy
B} logbas=yx
D) log atog b = y/x
g8 Ram sells a commodity to Rahim at a profit of 10%. Rahim seis the commodity back
1o Ram at a loss of 10%. In this Iransacton:
A) Ram neither iosses nof gains
B) Ram makes a profil of 1%
¢} Ram makes a proft of 20%
D} Rahem loses 20%
g9 An error 2% in @xcess IS made while measuring the side ol a square The percentage
of errof in the calculaled area of the square is
Ay 2%
B) 202%
C) 4%
D) 4 0d4%
g0. How many lerms are there in 20, 25. 30 140
Ay 22
g 25
c 23
D) 24
B-0A/SET & 13
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97.

A 5% stock yields % The marke! vailue of the stock is
A} Rs 48

B Ry 7y
Cl Ry 08
DV Rs 10

:,W;'memwus.mmmumwu:

B
Ch 45
0 s

:“?:'“MNMamsmmmanm?

B 1m
¢ e
Dy 192

The salanes |

&re alowey AB'C""""'rmz;a:s.lnmmon& 10% and 20%
A3 3 gp0Tevely in thew saiaries. then what wi be new rabo of the salasies?
B) 10 1oy

Dy 1314 39

10 find the average

m": '"'d“'m*‘iﬂ'ihmmmdm
Al Anthmete Mean

B Weighted Mean

€)' Geometnc Mean

D} Harmonic Mean

A worker completes
“m'ﬂ'mm&;’glmﬂ|0ﬂw.nmm’mmMm“.‘

Thmmm.m“mml
Mmdchvﬁ"lrmn-.u. Awa"mm&m.'ﬂﬂhnmlmn [ .
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? xeepel earns a profit of 12% on solling o book al 10% discount on the printed
A ﬂogne ratio of the cost price and tho printed piice of the book is
P’I'Cﬂ 4556
;’ 45:51
) 47.56
m 47.5,
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